
Symbol Definition
*
+

Find# Part Description Specifications/Model Part # Qty
4 Motor Assy 115v 1Hp 3300 RPM 1 Spd (Order S218 Kit) 02-00088 ea. 1

17 Switch Toggle, 1-1/2 02-00092 ea. 1
18 Switch Plate, On/Off 02-00094 ea. 1
19 Boot Rubber, Black (for toggle switch) 02-00095 ea. 1

Connector Qc .250 Fem Fully Insul 02-00135 ea. 1
22 Motor Assy 230v 1Hp 3850 RPM 1 Spd (Order S219 Kit) 02-00144 ea. 1
25 Strain Relief Snap .360 Dia Blk (230v) 02-00218 ea. 1
15 Spring Pin, M2.5 x 1 (hold fan to motor shaft) 03-00021 ea. 1

6 Rivet 3/16" Black Anodized 03-00030 ea. 6
10 Foot 15/16 O.D. x 5/8 03-00080 ea. 4
14 Washer .56 O.D. x .33 03-00081 ea. 2
11 Screw #8 x 3/4"  AB Phil Hd Zp 03-00095 ea. 4
16 Nut Nyloc 5/16" 18 ZP  (fan) 03-00098 ea. 1

9 Screw #8 x 1/2" HWH (for duct ring) 03-00103 ea. 12
32 Insert #6-32 Knurled Brass 03-00104 ea. 12
30 Rivet 3/16 x 1/2 Stl/Stl Zp Blk 03-00130 ea. 8

9 Rivet 3/16 X 5/8 Tri Fold 03-00204 ea. 12
27,28 Rivet 5/32  1/4 Tri Fold Al/Al Black 03-01487 ea. 3

3 Housing Axial Fan, Trimmed, Brt Yellow 04-00041S ea. 1
29 Housing Axial Fan, Trimmed, Rein Orange 04-00041-01S ea. 1
29 Housing Axial Fan, Trimmed, Turf Grn 04-00041-02S ea. 1
29 Housing Axial Fan, Trimmed, Fisher Blue 04-00041-03S ea. 1
29 Housing Axial Fan, Trimmed, Econo Black 04-00041-04S ea. 1

1 Duct Ring 12" ABS 04-00042 ea. 2
2 Grill Vortex w/Finish 04-00046 ea. 2
5 Fan Blade 12" ABS 04-00047 ea. 1

26 Plate Strain Relief w/PC Wrinkle Blk (for Heco) 04-00052-01 ea. 1
24 Power Cord Assy 3 x 1.5mm H05VV BS4343 25', 115v-UK 04-00056 ea. 1
23 Power Cord Assy 230v, 3 x 1.5mm H05VV CEE7/7 25Ft EU 04-00057 ea. 1
21 Power Cord Assy F174-230v UK, 3 x 1.5mm H05VV BS1363 25' 04-00058 ea. 1

Box Axial Fan 275# 06-00038 ea. 1
Bag Poly 1.5 Mil 06-00045 ea. 1

8 Label Warning, Turbo 07-00109 ea. 1
12 Label Model/Serial UL/CUL/CE, 230v 07-00161 ea. 1

Manual TurboDryers 115v 07-00211 ea. 1
Manual TurboDryers 230v 07-00213 ea. 1

13 Label Model/Serial UL/CUL, 115v 07-00228 ea. 1
Insert Declaration of Conformity - 230v 07-00242 ea. 1

20 Power Cord Assembly 09-00046 ea. 1
4 Motor Kit 115V/60HZ   1HP S218 ea. 1

22 Motor Kit 230V/50HZ   1HP S219 ea. 1

 

Vortex Axial Fan
(Models: F174, F174-BLU, F174-GRN, F174-US, F174-UK, F174-230V, F174-230v BLU,F174-230V UK, 

F174-230V PB, F174-230V HE) 

    in order to upgrade or complete repair

  - multiple components to choose from for different models: voltage, size, color, etc.
  - if you order this item, you may need to order additional items marked with same number of +'s 

Vortex Axial Fan (F174) Page 1 of 2



 Vortex Axial Fan Pictorial Breakdown

Vortex Axial Fan (F174) Page 2 of 2


	F174

